AN

> H n N 5 n 49462203 HANSAPRIMO - Washbasin faucet

EAN: 4015474269064
statichansa.com/49462203

e Washbasin e Bidetta hand shower

e Single-lever, Bidetta e Limitation option for maximum temperature and flow-rate,

o Deck mounted Adjustable hot water stop (included, retrofittable)

e ¢35 mm ceramic cartridge for flow and temperature control
e Chrome

e Fixed spout o Flexible inlet pipes

e Standard aerator e Inner body made of DZR brass, Rapid installation system

e Hot/Cold symbols, Single operating lever/handle e Without pop-up waste

e protected against back-flow in domestic use (according to

H h h h h h 1
e Hand shower, Shower holder, Shower hose (1600 mm) DIN £N 1717)

145
o ™
o
~
w
234-37
o
<
b o
v
©
™
215 G1/2
G 3/8

G172

© 2024 Hansa Armaturen GmbH - www.hansa.com - 16.04.2024 13


https://static.hansa.com/49462203/en

AN
AYd

Technical data

HANSH

Flow properties

Flow-rate at 3 bar
Flow-rate at 3 bar (with flow controller)

Pressure loss with flow (0.11/s)

Technical properties

DN-size (nominal dimension)
Hot water supply

Working pressure
Connection size

Projection

Backflow prevention (EN1717)

Material

Regulations

EN standard

Noise class

Approvals and Declarations

EPD

Sustainability

EPD module A1 (kg C02 eq.)
EPD module A2 (kg CO2 eq.)
EPD module A3 (kg CO2 eq.)
EPD module A1-A3 (kg CO2 eq.)
EPD module A4 (kg CO2 eq.)
EPD module B7 (kg CO2 eq.)
EPD module C2 (kg CO2 eq.)
EPD module C3 (kg CO2 eq.)
EPD module C4 (kg CO2 eq.)
EPD module D (kg CO2 eq.)

© 2024 Hansa Armaturen GmbH - www.hansa.com - 16.04.2024

9.0 l/min
6.0 l/min
2 bar

DN15

max. +70°C
1-10 bar
G3/8

107 mm

HC

Brass

EN 817, EN 1113
1(150 3822)

$-P-06391

9,06
0,43
0,86
10,36
029
1854,00
0,02
0,02
0,08
137

600 kPa
6 bar

500 kPa
5 bar

400 kPa
4 bar

300 kPa
3 bar

200 kPa
2 bar

100 kPa
1 bar

Q (I/min)
Q(is)

49462203

0
0

0.1

12
0.2

18
0.3

24
0.4

30
05



< HANSH
N
Spare parts

i

2D
it

&

© 2024 Hansa Armaturen GmbH - www.hansa.com - 16.04.2024

SP49462203
Name
1 Lever
11 Screw, M5x8, SW2.5
13 Symbol plug Grey
2 Covering cap, 33x3 mm
21 Gasket, 45x35.5x5.4
3 Tightening nut, M40x1
4 Cartridge, 3.5 Classic
4 Cartridge, 3.5 Discontinued
5.1 Bottom seal
52 Fixing set
53 Flexible pipe, L=430, G3/8-M8x1
54 0-ring, 6x1.4
55 Gasket, 9.5x14.4x2
56 Fixing screw, M8x1, L=140
57 Coupling pipe, M8x1-M14x1, L=214 Discontinued
58 Connector, G1/2xM14x1 Discontinued
6 Aerator, M24x1, 6 [/min

Code
59913827
59904755
59912112
59912504
59913651
1003409V
59913075
59913965
59914591
59912113
59913964
59913266
59912551
59912474
59914035
59914180
59913727



